
www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 1

®

RDM-030-1022

NORDexternal

RVR Installation components

Included in delivery:

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

B

D

A

E

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

Not included if 
depth C=200 mm 

Not included when RVR snow 
shield is from one module.

C



www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 2

®

RDM-030-1022

NORDexternal

RVR Installation

 H
 

 B 

 6
0 

 100 

A

A  C 

        A-A

1

ø12

 

H
/2

-4
0

C

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

SECTION A-A



www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 3

®

RDM-030-1022

NORDexternal

RVR Installation

 

 

 
  

ø12
2

3
1

2

 

 

 
  

ø12

4

D

D

A

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

B
Detail B not included if 

depth C=200 mm. 



www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 4

®

RDM-030-1022

NORDexternal

 6
0 

 8
0 

 H
/2

 

 H
 

 80 

 B1+100 

 B 

 B1 

b

b  C 

        b-b

RVR Modularity

5

 

 

 

m
in

 1
20

 m
m

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

C

SECTION b-b



www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 5

®

RDM-030-1022

NORDexternal

 

 

m
in

 1
20

 m
m

ø12

6

 
ø12

2

1

7

8

 

2x

2x

RVR Modularity

E

M8x100 bolts not included 
when RVR snow shield is 

from one module.



www.etsnord.comImages are for illustrative purposes
We reserve the right to make changes 6

®

RDM-030-1022

NORDexternal

RVR Modularity

10

11

 

1

2

3

9 90

1

2

D

D

B pcs

C pcs

D pcs

A pcs

E pcs

M4,2x16 M8x100

C

A


